Test 4 Algorithm : random data set

MST : cut-length (1 — 10)
- MGsS: tResqution (1-10)
S
ST DBSC/%N : eps (1 — 10), min_sample=10

i J‘1[](]
'Hierarq‘hical . distance_threshold (1 - 10)
L u . . Tsn




Previous results

Data : 1% data set Data : 2" data set

MST MGS DBSCAN Hie(r:glrchi MST MGS DBSCAN Hiegg:‘chi
! 62 458 51 446 1 112 94 None 4368
2 50 137 50 56 2 236 410 18 1756
3 50 63 50 50 3 66 133 53 559
4 50 51 50 50 4 50 60 50 195
> 50 50 50 50 > 47 51 48 84
6 50 50 50 50 6 45 49 46 53
! 50 50 50 50 ! 45 49 44 48
8 50 50 50 50 8 44 48 44 46
o 50 49 49 49 o 44 47 49 44

10 50 49 49 49 10 44 47 40 40




Efficiency of 4 algorithms

15" data

MST4{1.0 10 1.0 1.0 1.0 10 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 10 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0

MGS 11.0 1.0 1.0 ¥y 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 pHa 1.0 10 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0

DBSCAN 11.0 1.0 1.OpNey 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 jpHe 10 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 10

Hierarchical {1.0 1.0 1.0 ey pAvy 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0

1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0

0 10 20 30 40

1.0 1.2 1.4 1.6 1.8 2.0

2" data

MSTH{ 10 10 1.0 =il 1.0 f=fo8 1.0 10 1.0 10 10 10 10 10 10 10 1.0 10O

MGS4{10 1.0 10

DBSCAN 4 1.0 1.0 10

10 10 10 10 10 10 LOH 1.0 l.Uml.U 1.0 10 10 10 10 10 10 10 10 10

1.0 1.0 1.0 10 1.0 1.0 10 10 10 1.0 10 1.0 1.0 10

FAGN 1.0 1.0 pedil
=N 1.0 1.0 Z.DI

pON 1.0 1.0 X

7208 1.0 095 1.0 1.0 1.0 1.0 1.0 1.0 1.0 10

1.0 1.0 1.0 1.0 1.0 1.0 1.0 10 1.0 peibEw il 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 10

Hierarchical { 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 10 1.0 peibEw il 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 10 pON 1.0 1.0 X




Test 4 Algorithm : Real data

* Data : kias vagc for dr7

Mr20.0 ; luminosity cut = -20.0




4 Algorithm comparison : 1

o s * Changing the cut-length
- fo - o * Check # of clusters with # of
S galaxies is 2,3,4,5
* Isolated galaxies mean not
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4 Algorithm comparison : 2
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* Changing the cut-length

* Check # of clusters with # of
galaxies is larger than 2,3,4,5
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4 Algorithm comparison : 3

* Changing the cut-length

* Check 1* and 2" largest cluster
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